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(10%) 1. Which equation is nonlinear?
(A)y'"=y"-2y'+2y=3e™ (B)y'"+dy =10sinx  (C)y'+xy'=6x
(D) y"'+4y'-3y =sinx (E) None

(10%) 2. (a) Is the equation (y + e*)dx + xdy = 0 exact?
(b) Please find the solution of this equation!

(10%) 3. Solve the differential equation: y® —4y"—y' +4y=0

(10%) 4. FALA Laplace transform 3K O.D.E  y"—4y"+3y =10e™ , y(0) =2, y'(0) =2

(10%) 5.3 F{f(x)}{JFourier  transforms F()BIF{f(x —a)} Ba[?
(A) e™F(w) (B) F(w-a) (C)1

. 1+i —1+2i _ 1 -2
(18%) 6. Matrix A= Matrix B=
; : 4 2
3+20  2+i
Find (a) A-3B (b) AB
2 00
(16%) 7. For the following matrix A={2 1 1
0 0 3

Find its (a) eigenvalues and (b) eigenvectors.

(16%) 8. Three vectors are given by

— —

5:5+2}'+3?£ b=3i-2j+2k E:f_+j+k

Find (a) a-(bxc) ®) ax(pxc)




